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Revision Exercise 10 (Core)
1. p=25kg, o =5 kgandn = 50

From 245 kgto 255 kg
ForX = 245, standard unit

Forx = 255, standard unit z =

P(245 =X =255) = P(-0.158 = Z= 1.58)
=PZ=158) — PZ>158)
=PZ=158) —[1 - PZ=158)]

09394 — [1 — 0.9394]

=08788

=089

1=285,0=007andn =20

Mean of sample ¥ = u = 2.85

Standard error on the mean

5.5 beats,n = 32

The 95% confidence interval [CIl for is X + 1.96;'7’:
. 515
3

3. X =262 beatsand o,

262+ 196

32
=262+17843
24.4157,27.9843
= 24.42 beats < . < 27.98 beats
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4. X=266ml,0=20mlandn = 40

The 95% confidence interval [CI] for pis X = 1.96}"
20
{40
66 + 6.198
=259.802,272.198
= 259,80 ml < < 27220 ml

..C1=266+196
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5. n =150, the sample proportion p % 06

The 95% confidence interval [CI] for a proportion p = = 1.94

06(1 — 06
150

ﬂ:us:mﬁ‘

.6+ 1.96(0.04)
=06+00784
.5216,06784
=0522<p <0678

6. n = 100, the sample proportion p

55
The 95% confidence interval [CI] for a proportion p = p = 1.9sJ

055(1 —055)
=055+ 196 JT
.55 =+ 1.96(0.04975)

.55 + 0.09750

4525, 06475

= 0453 <p <0648

i =
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7. () He:The height of the Irish students does not differ from the height of the German students
Hy:The height of the Irsh students does differ from the height of the German students
5%level of significance = —1.96 <z < 1.96

w=176cm,x =179cm, o= 11 cmand n = 60

[(
(i

(i) Standard unitz

Since 2.11 > 1.96, the test stati
that the heights are the same.
Yes there s evidence to suggest that the average German student is taller than the average Irsh
student.

s in the critical region and hence we reject the null hypothesis

8. (i) Ho:The mean quantity of honey has not changed
H,:The mean quantity of honey has changed
(i) j1=4603g,% = 46129, 0= 32gandn = 60
X p_ 4612 - 4603
=
i E

5%level of significance = —1.96 < 2 < 1.96
Since 2.18 > 1.96, the test statisticisin the crtical region and hence we reject the null hypothesis
that the quantity of honey has not changed.

Yes there is evidence to suggest that the sample mean is different from the population mean.

Standard unitz =
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A Normal distribution. Central Limit Theorem
Because the sample size n > 30
p=96hrs, o =6hrsandn = 36

Greater than 98 hours = % > 98 hours
X—p_98-96_2_

Standard unitz =

Plx>98) =PZ>2)
=1-Pz=2)
=1-09772=00228

P(x > 98)(40) = 0.0228(40) = 0912
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10. ()

rejection rejection
region. region.

~196 o 196

2<-196,2>19

The sample statisticis 2 = 1.6
pvalue =2 X PZ> |z
X PZ>[16)
X[1-PZ=[16)
X[1-09452)
109
(i) Sample proportion, p = 120 = 0.68
250
. _a_ 1
Margin oferror = L = -1 = 0063
(i) Confidence interval (95% level) *ﬁ<p<ii+#
68— 0063 < p < 068 + 0.063
617 <p <0743
62<p<074

is confidence interval for the propor

of households that own at least one pet.




